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2.A game has two players. Each player has two possible strategies. One
strategy is called "cooperate”, the other is called “betray”. Each player
writes on a piece of paper either a C for cooperate or a B for betray. If
both players write C, they both get a payoff of $100. If both players betray
they get a payoff of 0. If one player cooperates and the other betrays, the
cooperating player gets a payoff of S and the betraying player gets a
payoff of T. To betray will be dominant strategy for both players if

(AT >100 and S <0. (BS + T> 100.
©T>28. (DS < Tand T> 100.
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3.Consider the following game:

Player 2
left center right
top 6,6 0,6 0,0
Pl 1
aver. middle 6,0 4,4 0,4
bottom 0,0 4.0 2,2

&Find the Nash equilibria in best responses.

EWhat is the dominated strategy that can be ruled out for each player in this
game?

®Find the dominant strategy Nash equilibrium for this game.  [95:%:z8 4]
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- Player 2
left center right

top {(6, 6) (0,6) (0, 0)]
Player] middle| (6,0) (4,4) (0,4)
0,0 4,0 2,2

(5Nash equilibrium (6,6) -~ (4,4) B (2,2) -
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2.Given the following prisoner’s dilemma table, what is the dominant strategy for

Bonnie?
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5.Which of the following is true?
{AA monopolist produces on the inelastic portion of its demand.
(B)A monopolist always earns an economic profit.
(C)The more inelastic the demand, the closer marginal revenue is to price.
{DIn the short run a monopoly will shutdown if P < AVC. [944f Kk 438 )
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1.Under the profit-maximizing principle, the firm should take which of following
steps if it finds that its marginal revenue is less than its marginal cost
(A)decrease output if it is a price taker but do not change the output if it is a price
searcher.
(Byincrease output regardless of whether it is a price taker or a price searcher.
{C)decrease output regardless of whether it is a price taker or a price searcher.
{Diincrease output if it is a price searcher but do not change the output if it is a
price taker, [95m A B 4]
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4 Which of the following statements regarding a monopolist’s profit maximizing
condition is false?
(A)The monopolist’s profit-maximizing price will be greater than marginal cost for
the last unit supplied. |
(B)A monopolist can earn positive economic profit.
(CYBecause monopoly price is above marginal cost and a monopoly earns positive
economic profit, there are no benefits to consumers in the monopoly market,
(DYPrice equals average revenue at the profit-maximizing quantity of output.
(94 K8t ]
5 Which of the following is true of a profit maximizing monopolist?
(A)Marginal cost always lies below average cost.
{B)In the long run, the economic profit equals zero.
{OIn the short run, it will shut down if marginal cost is below average variable
cost.
(DMIn the short run, it can still earn an economic profit even if marginal cost is

below average variable cost. [o5nsete]
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